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(3) x2+5xy—84y? (4) 2x*—6ax—36a®
(5) x2—60xy+900y° (6) 64a?+48ab+9b2
(7) 8la?—16b2 (8) Tbx%—12y2
¥ty FEE Q4 4 K1 LANE
5 ROAXEEESELRI,
(1) (x+2)y%—»° 2 (@a+b)Ab+c)—(a+b)b+c)?

(3) 4dx(x—4)—3(4—x) (4
Xty FEER4 4 K1 LRNS

R

dx(x—5y)—2y5y—x)



tyhBE5) S 228 X 5 & BP% 5i)
1 ROXERBESRL LRI,

(1) x*—625 2) 10000a*—b*

(3) x2—10x+25— y? (4) 4a?—9b2+42b— 49

Xty FEEP4 4 K5 LRIAA

2 RORERESELULRI,
(1) (@a+2b)*—(a+2b)—6
(3) ac+bc+ad+bd
¥ty FEEP4 4 K6 LRARNE

3 ROXEEBAELRI,

(1) x'—625y"

(3) x2+42xy+ y?—13x—13y+42
Xty FEE Q4 4 K3 LRIAR

4 RONEFBAELRI,
(1) (x%+6x)*+2x%+12x— 63
Xty FES Q4 4 K4 LARE

5 ROAXEEESELIZI,
(1) 3(x*—4)2—15x>+60
(3) x*—y*+2y—1
Xty FEER4 4 X4 LRAAE

(x—1)2—10(x—1)+25
ax—bx+ay—by+az—bz

a*—17a*+16

22+ 92— 224+ 2xy+4z2—4

(a—b)?—4dax+4bx+ 4x?
2 —2x— y:4+2y



v &5 § 229 RADEEDF A 1P% 2rB)
1 TITHRUT, ROFHEZLZIW,
(1) 1052 (2) 101x99
(3) 5552— 554X 556 (4) 995X 1003 —993 x 1005
Xty FEEP45 KB1 LRAE
2 ROFHEELRIW,
(1) 1992+ 1012 —992
(2) 2998 % 2997 + 3002 X 2993 — 6002 X 2996
5 122-2x%x12x44+ 42 3242%x3X6+ 62
&) 100 %5
Xty FEER45 K1 LRIAS
tvbES) S 230 RDHEDFIH 2P 4xB)

1 x=2, yz% DEx, (x—2y)2x—6y)—12)* DfEERDE I,

Xty FEEP45 K2 LRIAA

2 a=35 b=650D&X, a’+ab—5a—5b DEEZRDL IV,
Xty FEEP45 KE3 LRIAA

3 x=16, y=07 DX, 2*+4xy+4y* DEEZRDZ I,
Xty rES5 Q45 K1 ERAAR

4 x+y=5, xy=% Drx, P+y? OEERDEI,

Xty FEEP45 KB4 LRIAA
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R

)

RO E aJb OFIZER LRI, 270, bIFTEX32 NI VERBETI L,

1 V8 2 V98
3 VA0 4) —JB
(5) /32

Xty bES P47 K1 LEAAR

2

ROFEZ LRI,
(1) V35 x4
(3) V20 +./500

) V12 x/18

Xty FESP47 K2 ERNE

ROFHEE L, ERE Ja ORIZERLEIW,

1) V6 xXJ7 2) J0.75 x /24
@ 347 4 B
53
) NG
Xty FEE Q47 K1 LEARNAE
4 ROBOHBEEBALRIV,
2 2
(1) T (2) T
7 3
3 W (4) m
11
() N

Xty FrEBP47 A3 LANE




tvhEE) § 232 BExatHK0HE 4P5 5

1 ROFHEZ LRIV,

(1) 32 +5y2 2 4/3+5/3 =73
3) 11J/IT — 41T — 71T 4) 33 +2J2 —J/3+5/2
5 25 +3J2 —(=+/5)-5/2 6) 3T =27 =52 +JT+72

Xty FEEP47 KB4 LRARNE

2 ROFHEZLLIV,

(7+/3) 2) (85 —1)
(=3 =/5)* 4) (V3+1)(/3 -4
(V10 —/2)(/10 +./2) 6) (3v/3 +2)(v/3 -4

Xty FES P47 K5 LRNE

3 ROFEZLLIW,

) (=2P8X3 +4/27 — /155 @)ﬂﬁmi%+é?
) T+ 0 W+
3+8 247 B 5
@\m 75 wwﬁvWﬁw@+ﬁH
cn@jfy—fxff ®) (VT +6 + 1T —6—1)
Xty FEE Q47 K3 LRAIRE
4 ROFEELAIV, 22U, SREFELLTELRIV,
JIT —4
o LLprA T 2 WE+2/B)E V)~ (%_QZ
Xty FEER4 7 K1 LRRE
5 ROFEELEI,
2+/3)-2-43) 2 W2+V3+/5)7=(2 =3 +5)
WT+/6 +D)(/T —/6-1) 4 (V5 =2)(T+4V3)2+/5)(—=7+43)

Xty FBEER47 K2 LRRNA



tvhES) §S 233 BExatHK0HE 1P%& 2%

1 x=J10+2, y=J10 — /2 DX, 2>+ DEERDEIV,
Xty FEEP47 KB7 LRARE

2 x=2J2+4+J7, y=2J2 -7 OkX, RORDEERDLI,

M x+y @ xy
3 22+ W S+

Xty FEE Q47 K4 LRNE

tvrEE) S 234 HEH L EIBY 2P%m 3RE)

1 ROBERNEESETRLULIW,
1) 02 2) 023 3) 0.25 4) 0303 (5) 154
Xty FEEP48 K2 LRIAA

2 ROAZE, PEIZEUTEHEL, BREBERE/NMNIETERLLRIWN,
1) 0.26—0.23 (2) 045%0.19 (3) 1.3220.02
Xty FEE P48 K3 LRANAE

3 ROXEHEL, BERESHTRLLRI,

1) 16+35 (2) 0.47+0.15
3) 081x18 4) 0.53%0.60
(5) 212=85 6) 197=0.07

Xty bES Q4 8 Kffi2 LRAINE
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tvybES) § 2365 2RAEXDEEA (BPH

1 RO 2RAEBREMIIZI,
(1) x2—5x—36=0
(3) x2—14x+49=0

(5) 3x2=27

(7) (x+3)2—36=0
Xty FEEP50 K1 LRIAA

2 RD2RABREMIIZI,
(1) 3x24+9x2+1=0
(3) 2x2—5x—2=0
(5) 3x24+x—4=0
Xty FES P50 K2 LRAS

3 RD2RAEREMILI,
(1) 2(x%4+x)—5x=1

1, 2 1
(B Hxi—gx+5=0

Xty FEEP50 K3 LRIAA

4)

2x2—x—15=0
4x24+20x+25=0

1, 9

2Ax+62—16=0

x2—3x—1=0
3x246x4+2=0
4x2—5x—9=0

(2x+3)2x—3)=x(2x+3)+11

0.4x24+2.8x4+4.9=0




tvhEE) S 236 2RABKXDBES 4P5n

1 RD2RGEAEHEE LI,

(1) 4x2=196 @) 12—3¢—28=0

(3) 5x%434x—7=0 (4) 3x2—18x+24=0

(5) x24+36=—12x 6) Bp+132=9

(7) —x245x—2=0 8) a’+6a—3=0

©9) 2x2—10x—25=0 (10) (x+6)(x—6)=>5x

(11) x(4x+3)+3=x2—3x (12) 5(x+ 3 x—1)=3(x%2-3)
Xty FEFES Q50 K1 LRIAAE
2 RD2RFEAEEIRI,

12 —2\2
1) gt (x4 14 =0 @ - (A) =

3) 0.5x2—15x)—0.25(x—1)=025x—1 (4 3(x++5)2=2x++/5)—1=0
Xty FES Q50 X2 EEANE

3 RD2RAEREMMILIV,

(1) (x—=1)3x+5)=—2x4x—1) (2) (2x+12=3(x—1)
3) “x;2)=x%—4 M)-%u-Jxx—mzﬁﬁéx+%)
(5) x2—0.125x—0.25=0
Xty FEERS50 K1 ERAAZRE
4 RD2JXABREMMIIRI,
1) 2(x—2)72—13(x—2)4+6=0 2) 2x—+3)2=7=0
(3) x*—16x24+63=0 (4) (x*—5x)"—2(x*—5x)—24=0

Xty FEER50 K2 LRIAS



